VI TMYRIDT YR YR nINI® nNoon WA AT TN MY DT

13.7.3
68a (22w ywn 127) 2 69a (m7anm 8Y))
NP2 7Y 12 HIRY RIN 12D IR WY NIR? 0D 103 (R0) :WTP YIRS KD IW) 10D 2WIR WP YIRS KY a1 99} ()

MINYR MNN 72 102 NI () (9IRN K DWYTRD NYIINI RN 7 WRY NN 29 105 NI () N2 15985 Y
-:23 739 87777192 YIRS KD 1 921 YIRF AR DNYN PP PR 122 OR NAYY AY PR YN YN

10 7100 83 779 X777 IUTPN 1 IR 0D YA W HoD? KDY
v-n 109 23 P79 02327 ' NP DN R OWHY T DNY 1THY TWR D12 :L.078N0 2YNN KD D ... MNTR 2ynn XY

I Continuation of "1 mwn and its analysis (the list of 72x8n 1281 S019)
a A 9-year old boy (?) is »axn 18 Y019
i Challenge: if he invalidates, he does so even younger; even older cannot feed (02’ nymw doesn’t eatnmn )
ii  Explanation #1 (28): 9 year old who performed ma» - valid n”nn; but "0 12 NR2:97732 RN (> not eat)
1 Challenge: 2" clause -0 12 pav — certainly wouldn’t feed
iii ~ Explanation #2 (X¥37): 9 year old of (121 »arn ,"0y) Ynp *7104 as per Rn»13; clause in 'n mwn refers to Nnd *0a
iv  Expanded version of X171,
1 p’m any %np *no® who had nrva with a n9®Iw» MY ,mind invalidate her from nnnd
(a) Text: v. 1 - once she had nx»a with an 9t w8, she is invalidated
(i) Prohibition of nm N derived from wTp 938 RY 91 H)
(if) 91 971 teaches that MR is not an exclusion
(iii) owTPn NMNa teaches that she never returns to ;w1 N
(iv) (»'oa) 102 Ny is extra, extends to NHYRIVN MY — invalid for NN
1. notneeded to invalidate them from nn1n:
a. if they can only eat via their son, they are weaker than nin> who eats on her own merit
b. challenge: invert the logic; mn3 who has inherent nwyTp can become invalidated
c.  rather:v"p from nw who is not excluded from nman but is excluded from nana
(v) Challenge: perhaps only mn» 3 »a»n create n1n3 Y09
(vi) Answer: text says n’nn — must be one with whom pwimp are valid
(vii) Challenge: if so, 0"y 72y shouldn’t generate N1 Y109
(viil) Answer: HYRYNW "1’s NWIT — NVIIN MNYR (also extended to MHRIVN 1Y via » '0a)
(ix) Possibility raised: perhaps 0”2 72y don’t invalidate, even if there is y71
(x) Rejection: if so, no need to include non-nn3 in inference
1. but...according to Y™, R is a stringency (X™10 if she is a mnI, even if she has Y®wn Y1, can
return to eat NmIN), "W a leniency (even though she is NN 10 NNDY, she can return to eat
IR M2 NMIN)
(xi) possibility: inclusion of MW NN
(xii) rejection: called 71
(xiii) challenge: if so, should include Y5n
(xiv) answer: v. 2 equates the violator to his seed —
(xv) stipulation: only nx>1 invalidates; similar to ninRa »”na (not PWITP)
2 »py ’7. anyone whose seed is invalid invalidates via nx»a
(a) split the difference (between 51,2017 7): 10 30 — the offspring isn’t 1o
(b) derivation: both derived from »"n3:
(i) approach #1 (p"n): just as "3 invalidates the woman with the improper nxoa...
(ii) approach #2 (»p1 73): just as 3”n3 invalidates his seed...
3 27wt if you could marry his daughter, you could marry his widow
(a) split the difference (with »oy *7): 2aR1M "1nY: some of his offspring (girls) are valid
(b) derivation: also from 3"n3:
(i) approach #1 (so1 77): just as »"n3 invalidates his seed...
(if) approach #2 (272w7): just as 3"n3 invalidates all his seed...
b  mpav which affect nnyInN nYrIN:
i unclear if he was 9 years old
¢ mpoo which force nxHn
i unclear if the 1> was 9 years old
ii  unclear if the Y91 had already brought forth oo
iii unclear if the man died before his wife/niece - m1x only get nx5n
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